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Verstrichene Zeit finden Name:
Bestimme die verstrichene Zeit fur jede Aufgabe. Antworten
Bsp) 4:10 + 2 Std. und 20 Min. = 6:30
Bsp. 2 Std.und 20 Min.
1) 320 + = 7:10
1.
2) 6:20 + = 855
2.
3) 2140 + = 4:00 2
4) 1.00 + = 2:10 .
5 305 + = 455 :
6) 4:30 + = 7:00 6
7) 750 + = 10:30 .
8) 340 + = 530 g
9 7:50 + = 9:20 0
10) 3:00 + = 540 10.
11) 325 + = 6:35 11.
12) 4:25 + = 7:30 12.
13) 6:15 + = 7:25 13,
14) 540 + = 910 14.
15) 5550 + = 830 15.
16) 3:35 + = 5:50 16.
17) 2:20 + = 440 17.
18) 4:10 + = 510 18.
19) 4.00 + = 7:35 19.
20) 6:00 + = 8:00 20.
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Verstrichene Zeit finden Name: L Osungsschliussel
Bestimme die verstrichene Zeit fur jede Aufgabe. Antworten
Bsp) 4:10 + 2 Std. und 20 Min. = 6:30
Bsp. 2 Std.und 20 Min.
1) 320 + 3 Std. und 50 Min. = 7:10
1. 3 Std. und 50 Min.
2) 6:20 + 2 Std. und 35 Min. = 855 _
2. 2 Std. und 35 Min.
3) 2:40 + 1 Std. und 20 Min. = 4:00 _
3. 1 Std. und 20 Min.
4 : ) in. = Z
) 1:.00 + 1 Std. und 10 Min 2:10 . 1 std. und 10 Min.
5 305 + 1 Std. und 50 Min. = 455 . 1 Std. und 50 Min.
6) 4:30 + 2 Std. und 30 Min. = 7:00 6 2 Std. und 30 Min.
7) 7:50 + 2 Std. und 40 Min. = 10:30 . 2 Std. und 40 Min.
8) 340 + 1 Std. und 50 Min. = 5:30 6 1 std. und 50 Min.
9 7:50 + 1 Std. und 30 Min. = 9:20 o 1Std.und 30 Min.
10) 3:00 + 2 Std. und 40 Min. = 540 0. 2Std. und 40 Min.
11) 325 + 3 Std. und 10 Min. = 6:35 11. 3 Std. und 10 Min.
12) 425 + 3 Std. und 5 Min. = 7:30 12 3Std. und 5 Min.
13) 6:15 + 1 Std Und 10 M|n = 7:25 13. 1 Std. und 10 Min.
14) 540 + 3 Std. und 30 Min. = 910 14. 3 Std. und 30 Min.
15) 550 + 2 Std. und 40 Min. = 8:30 15. 2 Std. und 40 Min.
16) 3:35 + 2 Std. und 15 Min. = 5:50 16.  2Std.und 15 Min.
17) 2:20 + 2 Std. und 20 Min. = 4:40 17. 2 Std. und 20 Min.
18) 410 + 1 Std. = 510 18, 1 Std.
19) 4:.00 + 3 Std. und 35 Min. = 7:35 19.  3Std.und 35 Min.
20) 6:00 + 2 Std. = 8:00 20. 2 Std.
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